P S
MATH 238 Sochacki Exam 1 Name Kéf_ { WEST
Feb. 24,2021 100 Points {Print) (2 points)

All necessary work must be shown for credit and must represent the question asked. Your work MUST be
NEAT. You may NOT use computers, notes or texts. Calculators can be used only to help with arithmetic.

g
I have neither received nor given help on this exam. ’O &1t

(Signature) (2 points)
Does not exist is always a possible answer but NOT necessarily a correct answer.
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1.let 4= 0 o | B=|-2 1 |and b= N Give the following. (6 points each)
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(a) Ab
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(d) The solutions to Ax=h.
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2.1etA=[0 3 2 ,B=(0 3 2)andC= 0 o o | Give(8 points cach)
0 6 4 0 0 0 0 6 4

(a) the matrix L so that LA=B
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(b) the matrix L. so that LA=C
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(c) the determinant of 1. in part (a).



3Ix+9y+6z=1
3. Determine a so that the solution to the system of linear equations x+7y+4z =1 has a solution. How many
2x+8y+5z=q
solutions does the system have for this & ? (12 points)
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4. Give the determinant and inverse of the matrix 4 = (O -2 4 J (12 points)
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2%y — Xy — 6x53 = B
5. Give the solution to corresponding homogeneous problem for —x; + x, + 2x3 = —3 and write the solution

2x; —3x, —2x3 =5
to this problem as a linear combination of solutions to the homogenous problem and the non-homogeneous
problem. (24 points)
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